%196 FEBHEAS

F1a—+

2024%6R 168 R

B DER RBEFTT Oy 2 IBARE S BEBE - Bktyh - 8BRS - Yriry OIELTS

F— 1% (e 286 3FE 4EE 54 64 Bt vz AZE B
Eltyr 0 @ 2 14 7 7 2
£ ) S | 14 7 14 10
&/ % | 3 FE 28 14 2| z= FE 21 12
JUSTAWAY eseor - 8 5 1% 2 BE Bk 2 13 3 21 2
EE) -2 | 4 q
Bt A I 6 6
Bl 1l 4 3 4 2 17
E RN 12 3 5 6 10 14
NI VS FE 23 17 2|z 8 10 21|58 12 21
T+ =2 Bktyvt [‘BRF 2 RE -2 RE -2 6 -2 5 3
e 16 -2 -9
B A 6 0 0
Bl 4 117 14 6 16
E RN 3 12 7 14 10| 18
— "/ % 2| z= 7 23 14 28 FE 16 34 FE
177 Bktyh RE -2 -2 B A% -2 B A% 0 -6 -48 4
e -16 -4 -18
B A 0 0 0
Eltyr 2 0 4 3 16 6
g2k | | 6 5 18 10
B//% 3 | = F3E 10 8 34 16 21|52
Monster — aseor BE | BAMR 2 2 T 175 22 1
EES) 2 2 18
B A 5 6 6
(37) (43) (49) (55) (61) (67)




%196 FEBHEAS

g2a—-F

FREXDER REF GT Oy 7

IERRE IS BFE =

2024%6R 168 R

- Bktyh - Bk -

vy DOIBLT S

F— 1% (e 286 3FE 4EE 54 64 Bt vz AZE B
Bleyh 13 2 7 7 4 | 8
2wy 7 7 10 2 3 8
B/% 20 g9 FE 17 g 2| z= FE 7 16
ARV gxesr 1 mERE BE  Bam -2 0 0 10 3
EE) W 8 -q
B A 5 5 0
AR 14 2 7 q 8 4
E2eyh 10 | |1 10 8 8 3
o=~ S F® 24 13 BIE 17 17 BIE 16 7
ANTAT  ageor @Rk 0 % 0 % 2 13 2 20 1
e W 0 q
B A 4 3 6
AR 2 14 7 7 4 |12
E2eyh Il 10 2 10 3 14
7/ %k 2| z= 13 24 9 17 FE 7 26 FE
JOKER Breyt  RE 0 - EFRE -2 EFRE 3 |-3|-38) 4
e -1 -8 -19
B A 2 | 0
Bleyrk 2 13 q 7 12 4
2wy 7 7 8 10 14 3
B = ®/% 9 20 EIE & 17 17 26 17 o4
FRIZ7 1 ke - wE  @BAR O 2 popes 0 1 8 2
EES) -1 0 19
B A | 3 6
(38) (44) (50) (56) (62) (68)




%196 FEBHEAS

£33—+

B OB RBEHT7 Oy 7

IERRE IS BFE =

2024%6R 168 R

- Bktyh - Bk -

vy DOIBLT S

F— 1% (e 286 3FE 4EE 54 64 Bt vz AZE B
Elevyk | 11 8 6 6 g g
g2Huyh 7 6 3 4 19 8
N Bg/% 18 14 F3E 9 10 2| =& FE 28 17
LT el 2 mam - BE  BAR | 12 2 14 1
=R, 4 -1 W
Bt A 6 | 5
Bl 8 8 20 7 9 g9
g2k 8 7 13 10 8 19
&/ % FE 16 15 2|z 33 17 21|58 17 28
AFB Bxuyr  BAMR | L 2 DL y 12 2 6 3
Bka | 16 -1
Bt = 5 6 |
Bl 8 8 6 6 12 6
E RN 7 8 4 3 15 7
N "/ % 2| z= 15 16 10 9 FE 27 13 FE
729460 BLevr  BRE -1 | 17 2% 2 17 2% 12 2 14 1
=X -1 | |4
B A | 5 6
Elteyr 8 | I 7 20 6 12
g2vyhk 6 7 10 13 7 | 15
B//% 14 18  BIE ¥ 17 33 13 27 BIFE
FBC O BLtvh -2 R 17 =A% -2 -2 R 0 -6 -34 4
=R, -4 -16 -4
B A 0 0 0
(39) (45) (51) (57) (63) (69)




%196 FEBHEAS

£423-—+

FREXDER REFJ 7Oy 7

IERRE IS BFE =

2024%6R 168 R

=Y SIS

vy DOIBLT S

F—L% (e 284 3FE 4EE 54 64 Bt vz AZE B
Eltvyk 13| 19 Il 14 17 16
g2€vk | 16 16 118 13 14
B/% 29 35 FE 22 32 2| z= FE 30 30
PRIZAA  eieor -1 @Ak -2 BE | BAR 0 4 -3 -16 3
=R, -6 -10 0
5t = I 0 3
EFRA Il 15 10 21 16 | 17
g2k 6 6 12 14 14 13
&/ % FE 17 21 2|z 22 35 21|58 30 30
FBCQ@  gieor mam - wE 2 wE 0 4 -3 -17 4
Bka -4 -13 0
Bt = | 0 3
EJ R 15 11 14 11 14 8
g2k 6 6 18 I 12 7
o &/ % 2| z= 21 17 32 22 FE 26 15 FE
PrIZAB gl wE | > @Rk 2 @AR fr 6 25 1
Bka 4 10 |l
Bt = 5 6 6
Elevyh | 19 13 21 10 8 14
g2€vk | 16 16 4 12 7 | 12
B/% 35 29 = F3E 35 22 15 26 21|52
DAIGO vt wE @Ak 2 2 pope 1,18 ¢
=R, 6 13 -1
Bt = 5 6 0
(40) (46) (52) (58) (64) (70)




FRIX DER

F—L04% BEba tubE AZE  JBEAL
11—
JUST A WAY 13 3 21 2
F\\ 1 iI—@ o
7 fWarr=<')+—X 6 -2 5 3
H 1I—@ N
Y AT 7L 0O -6 -48 4
7 | iI—@
Monster 17 5 22 1
21—
A=A 10 0 10 3
G e o
7 ANRTIUH— 13 2 20 1
H e-o
W JOKER 3 3  -38 4
7 2fi—@ S
RiEIS7T | 10 1 8 2
3fir—O N
I-oL—7 12 2 14 1
H\\ 3—@
7 AFB 12 2 6 3
H | sp-0
Yy 729440 12 2 14 1
7 |se-®
FBC O 0 -6 -34 4
4 —O
| W=ITAA 4 -3 -16 3
N R )
7 FBC @ 4 -3 17 4
=
4—Q
Y W=ITAB 17 5 25 1
7 41 —@
DAIGO 11 1 8 2

PRI DER
| iz Monster
F
7 211 JUST A WAY
=
Y 3 Br~')+r—XxX
7
4 AT 7
Yiv ARSIV~
G
7' 6 FigoJ57 |
=
Y 741 A1
7
81 JOKER
9fi S-oL—7
H
7 | rom #N/A
=
. | 143 AFB
7
| 2411 FBC D
| | 341 Ww-ITAB
7 | 441 DAIGO
=
Y | Sir W=ITAA
7
| 641z FBC @




